2 =32 A ANENTEE
HMa: ZAAbelol HMe gl
SRl MZT OHEE MAHATAEE) (ot 2g)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
ZASHEER 5,070,265 5,126,792 NB6,527
= 1,319,196
= 3,751,009
ZAHAHH O] A 25t 2,939,602 3,042,599 A102,997
= 1,319,196
& 1,620,406
M2 YA MANZXIRBE) 1,862,629 2,034,365 A171,736
= 1,319,196
& 543,433
RS L ASMAHH| X (ZAH(=212) 1,319,196 1,435,621 A116,425
= 1,319,196
101 I244| 405,830 510,000 A104,170
= 405,830
M IItH22 S8 405,830 510,000 A 104,170
ORAST A ASMLH o124H| 405,830
= 405,830
201 Ler2AH| 104,000 100,000 4,000
= 104,000
01 At22telt| 104,000 100,000 4,000
OMZ At 24 CHERH] 104,000
= 104,000
206 =4I 809, 366 825,621 16,255
= 809,366
01 M=l 809, 366 825,621 A16,255
ORAT ¥ ASMA M= 809, 366
= 809,366
WX RS - S 510,150 569,050 58,900
201 L2 HH| 110,000 105,000 5,000
01 ArR22eltl 80,000 80,000 0
OMZ A Mo ZTF AXtE & AIE7 XY 20,000
OMZ At Mok HsTHEt 60,000
02 3324l 30,000 25,000 5,000
oxtg & JIAHEH ==X 30,000
202 o4t 7,000 7,000
01 =WO4HI 7,000 7,000
OMZAE A X =81 AY| 7,000
204 LAY 19,200 19,200
03 SEHR&H| 19,200 19,200
OueI& =l 50,0003 +32F «12& 19,200
206 M= 4l 3,000 2,100 900
01 =4l 3,000 2,100 900
OZY=sAtl & E2HEE A 7 3,000
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A= 532 A ANENTEE
Zu: ATA0] B A3t
SRl MZT OHEE MAHATAEE) (ot 2g)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
401 Al2HIZ 200 277,500 435,750 158,250
01 Al&H] 277,500 435,750 158,250
OMZ At THE XA s=22& 90,000
ORollZ= Lo XIAIL 50,000
OARE E=3At 107,500
OMEL E==3At 30,000
405 AHaHE SH] 93,450 0 93,450
01 AL ESF =4I 93,450 0 93,450
O=xtg WA 93,450
IRBE - JIsd N2 daEg 33,283 29,694 3,589
101 el24d] 22,433 20,344 2,089
M IIRZZ2NSES 22,433 20,344 2,089
OHSEE - JIsE NA datelAd 22,433
201 &gr=2E | 5,000 5,000
01 AtR2teld| 2,000 2,000
OxAHHe & Jl2aE RAl2 2,000
02 S22l 3,000 3,000 0
QIS8 - Jlsd Ma d4aE IR 3,000
202 O 850 850
01 =04 850 850
ONHSE - JIsE NA d=s =8| 850
206 M= HI 5,000 3,500 1,500
01 MHZH 5,000 3,500 1,500
OJZBE - JIsd WX &4k 2] 5,000
MNZA HE1D 2el2E 679,363 547,162 132,201
MELD 2el 97,947 79,726 18,221
101 el 23,127 22,026 1,101
M IRNZZ2NHSE S 23,127 22,026 1,101
OMEL 2e| JIZtH 22X 21| 23,121
201 ger=2a| 70,220 53,000 17,220
01 At2tcltl 13,000 13,000 0
OMNEL 2| 13,000
02 s34l 57,220 40,000 17,220
OMED A4 & JIHEH |X2el 57,220
202 04l 2,600 2,700 A100
01 2LHOIHI 2,600 2,700 A100
OMELD 222 o 2,600
206 MH=HI 2,000 2,000
01 =4 2,000 2,000
OMNELD A=AM S 2,000
&1 28 € A2 471,416 467,436 3,980
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A= 532 A ANENTEE
Zu: ATAI0] BB A5t
el MZA HED 222 (S M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
101 el 61,916 467,436 405,520
M IRNZZ2NHSE S 61,916 467,436 405,520
Odatzie] XIS@ o12t] 61,916
201 ger2a| 409,500 409,500
01 AtR2telt] 400,500 409,500
OTZANESS dd - 205 e 409,500
225 NS 20IMEAIE £X 110,000 110,000
401 A2 HIX S0HH 110,000 110,000
01 AlZH] 110,000 110,000
O=22Z NZ XA 20IMEAIE &EX 110,000
WNZAH ok & 25 17,610 131,672 A114,062
WA dab & S5 15,650 130,000 114,350
201 get=2a| 650 0 650
01 Al 2telHl 650 0 650
OMZA S8 SEALE FA - 2= 650
202 O 15,000 15,000
01 =LA 15,000 15,000
OMZA+ Hatlf & SZ2EF F4 04l 15,000
HESEA 2E 1,960 1,672 288
301 etENS 1,960 1,672 288
11 #AIMBIXIE S 1,960 1,672 288
OMEsIH s AL 24 1,384
OMSBEX WHEX2S ELt 24 576
WZXH A R 2 14,000 14,000 0
WNEX BAE & 23 4,900 4,900 0
201 LEr2E | 1,000 1,000 0
01 AtR2telH] 1,000 1,000 0
225 NS ZAE =28 1,000
202 04| 2,500 2,500 0
01 =LA 2,500 2,500 0
OZYZAL & A S 2+ d 2,500
206 M= Hl 1,400 1,400
01 =4 1,400 1,400
OZ=Z NZX HAIZ s & 728 1,400
delddd 2g 9,100 9,100 0
206 TH=Hl 9,100 9,100
01 =4 9,100 9,100
ObtoletAa HEIIE, Eeldd 48238 +
ol 9,100
AL 32 366,000 315,400 50,600
AL =X 340,400 315,400 25,000
201 828 340,400 315,400 25,000
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=32 SA  ANENDER
ZAH Ol AW A3
A 32l oz
CRA - EY . O9I(SIH) - NISAY - BAES Ofl &e i 2t
01 AtR2eltl 30,400 25,400 5,000
OEM2ZE 24 25,000
OFA2E 222 1=l 400
OSEMXE EXE M= 2 &X 5,000
02 =324l 310,000 290,000 20,000
OFAI2Z 2l 310,000
OFE A Xt&tzte| 141,100
O3323(HD], &=, 2A2ZH| S) 153,700
O=d - 23T M= 2 J|H RAE= 15,200
AFHOPME M XIAHH 25,600 25,600
201 LEr2AH| 25,600 25,600
01 At 22|l 25,600 25,600
OQtM - Ezie| P2 2 249 10,200
OSIEEEI}L AAl 15,400
MY 2IEH(ZXSAIEHA) 2,130,663 2,084,193 46,470
ol AH| 2,001,116 1,961,752 39,364
32& olAdl XA 1,895,003 1,861,257 33,746
101 @I244| 1,824,083 1,794,897 29,186
01 = 1,659,027 1,701,332 A42,305
oJl=s 1,275,961
Oo==2 1,191,576
-H=H 178,965
= 8,272, 7203« 18+12& 99,273
= 6,640,9402 18+ 123 79,692
-2 Bt 962,803
6= 4,113,600 7B+ 123 345,543
72 3,448,400 78+ 123 289,666
= 3,413,400 +5E + 123 204,804
= 2,046,500 x5« 128 122,790
-dEZEa 49,808
Ltz 4,150,600 x 18123 49,808
(OFSF=Eat=; 1,012,611,000&%1/12 84,385
o=g 198,373
Os= 24,000
-t Xt 40,0002 25+ 128 12,000
- AE 20,0002 50 128 12,000
Ot 24,840
254 0|4 130,000& 8+ 12& 12,480
—20~253 0| ¢t 110,0002x2H + 12& 2,640
-15~20= 0] ¢t 80,0002 2%« 123 1,920
-10~15= 018t 60,0002 5+ 123 3,600
-5~10= 0] 8¢ 50,0003 x7E+ 128 4,200
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a2 =33 SN ANENTEE
M HHPALH|(LXSXUEER)
chel: olziedy| (S92l &%)
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ
OS=X22+E 12,240
-SX 60,0003 x17H* 122 12,240
OS+22f=g 7,080
-FE2RFH(EB)
50,0002 x11&+ 128 6,600
-PIE2RSE(ESE)
40,0002 x 18~ 122 480
onRIRALL
3,448,400 «8H x 122 +4. 1% 13,573
OS=+g2+g 15,840
Jled=EsE 11,040
458 50,0002 x2& 122 1,200
672 30,0002 x 18+ 12& 6,480
8-9= 20,0002 x14H =122 3,360
JledE2E0H= 4,800
- JIAH 30,000 x7& 122 2,520
- AFADIAL 20,0003 +3&~ 122 720
2 10,0002 x5&« 122 600
24 20,0003 x4« 122 960
OAIZtel2R4Y
11,2002 x30E*25A| 24+ 122 100,800
OdHZAHI 140,000 302 *12& 50,400
Og &=l 1,012,611,000& *1/12%120% 101,262
O II2 4| 33,031
O sH
178,965,000 * 1/12x78%x~86%*1/30x 12 4,002
Os=H
1,012,611,000& *1/12+86%+1/30% 12 29,029
02 JIEta == 165,056 93,565 71,491
oJlzs 125,171
O==, 125,171
- AT 83,211
= 3,757, 7503« 1H+ 128 45,093
=) 3,176,500 1= 12& 38,118
-4+522d 41,960
= 1,748,300 x2E12& 41,960
o=g 17,280
OfE=g 3,840
BN} 40,0002 x4~ 122 1,920
-SIE 20,000 ~8E » 128 1,920
OAlt 2224 13,440
I AlZeI2RaE
11,2003 x4 +25A1 2H+ 123 13,440
OFHIAHI 140,000 x4~ 122 6,720
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a2 =33 SN ANENTEE
M HHS A (ANENEER)
el I E2al (2 M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
OEE=FItl 10,430,920 *120% 12,518
OAItL &I (LBHIIIM) 3,367
O erEIIA
83,210, 00021/ 12+78%¢1/30x 1224 2,164
OxszR
41,960, 0002 1/12%86%+1/30% 12&! 1,203
204 R =HAH| 70,920 66,360 4,560
02 Mg 2x| 70,920 66,360 4,560
©43 400,000 *1H« 122 4,800
(©r=1 250,0003x 1+ 123 3,000
Ob= 175,000 x 122 =122 25,200
ora 165,000 x6& 122 11,880
0892 (I MBPRHELE)
165,000 x 14« 122 26,040
SIIAZ 2R 212H] XA 106,113 100,49% 5,618
101 el24H] 92,451 89,726 2,725
03 SRA(RINHA) 222+ 92,451 89,726 2,725
oAt E2tel 92,451
oJl=z 2,544, 52021 x224* 122 61,069
o224y 5,000,002 5,000
OAlZIRIRR A
21,3303 x2+20A| 2t 123 10,239
OuxtrE/It=g 2,746,000 2,746
OulEH| 100,000 x2& * 123 2,400
OEE=FItl 2,544,520 +22]x120% 6,107
Os4ld 3,360,000 3,360
OJE+E 1,440
BN, 40,0008 x2& + 122 960
-R LIS 20,0008 28122 480
M HA=2E=SS 13,662 10,769 2,893
4 BRA(RIAHA)2 2N 2EHSRES S 13,662 2,693 10,969
OZ2H(RIIAY)22 N 2R3 13,662
Oo=24= 8,276
OdZEE & L&A LY 3,610
oulges 828
(OFag=P\ Io) hny=-=d 948
=34 129,547 122,441 7,106
2A29 Jl=dtl 7,321 63,981 7,346
201 Ler23| 36,960 31,941 5,019
01 AtR2telH] 36,730 31,701 5,029
OR N2 AtR22/H 36,730
02 E3=gH| 230 240 A10
ORAMEE SE524H 230
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[l
3
OF
uJ

-

HwE

2,327
2,327

A240
A240
A240

dHEC
Ol &42H

13,500
13,500

11,940
3,300

1,440

7,200

6,600
6,600

58,460
58,460
58,460

Ofl &8

15,827
15,827
15,827

11,940

3,300

3,300

1,440
1,440

7,200

3,600

3,600
6,600
6,600
4,800

1,800
58,220
58,220
58,220
57,720

500

R

- SR1(3) - HIRAHY

29438

A
=

202 Odd|

01 ZLHA LI

=LH0IH

30
OH

IF

A

x4
K
ok
D

.

oF

3,300,000&

40,0003 »36%

=
K-
ok
3l
30
O

g

300,000& 10 A+ 128

300,000 *1JH 2+ 122

R0
10

ok

Rr

oF)

©

400,000 x1E+128

150,000& x 12+ 12&

-

KO
KO
©

80
OH
J
oll

01 AtR:2telt|

0B
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